Science 10 Chapter 9 checkpoint (Version A)
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Section A ~ knowledge and recall, solving familiar problems.
If you answer most of the questions in this section correctly you will achieve level 4 on Criterion A

{’1 1. Whj

h.of the following correctly describes the Law of Conservation of Mass?

Duying a chemical change, the mass of products equals the mass of the reactants.
During a chemical change, the mass of reactants remains constant. ,
¢. During a chemical change, the mass of each type of molecules is the same.
f d. During a chemical change, the mass of products remains constant.
2. Ifthe reactants in a sealed container have a mass of 124.5g and a synthesis reaction occurs. What happens to
the mass?
a, increases

@stays the same

c. depends on the type of reactants

o d. decreases
/L"; 3. Which of the following would increase the rate of reaction?
a. Decrease the temperature
b. Decrease the surface area
¢, Add more products
d. Thcrease the concentration
4. Match the following reaction types with their definitions

A. Single Replacement 2 _two elements will react and form one compound
B. Decomposition A one metal will take the place of another during the reaction
C. Double Replacement C _two compounds will react and the element will switch partners
D. Synthesis S one compound will break down into two or more
Balance the following; Z

5. 2 Na+ 820,00 & Naow+ /[,

; = N ¢
6. / XeFo+ 5 00/ XeOs+ (o HF




Wirite the type of each reéction: (no need to balance)

7. AlBrs + K;SO40 KBr + Aly(SOu)s Type: Lovsc € RePr.
8. H0,0H0 + O, Type.__ Fetlorres 7 2o
g, P+0,01P0s Type: BT TAC S <

Predict the products and write the type of each reaction: (no need to balance)

10. CsHyg + Oz 10 Type: é;;ﬂl%w 7 éf‘w’*ﬂ

11.NaOH + H,S0,1 Type,_Aco- Broé  weoT

Section B — Solving unfamiliar problems.
[f you answer most of the questions in this section (and in sections 4 and B) correctly you will achieve level 8 on Criterion A.

12. Cobalt (1) chloride and sodium hydroxide react...

fﬁ 5 13
What type of reaction proceeds? __/ puBec /ZEP .
Write out the complete and balanced equation:

(o Cly s 61 Color ), +&Z Ne Ci

13. Suggest 3 specific ways to increase the rate of the followmg reactlon (the copper is in the form of a block). B

CU(S) +2H NOg(aq) ECU(NOg)z(gq) +H2(g) ;f

/! / /

a. ff$y,,g;e‘;“,w Falr = s aF R ?K e 'sig}”‘gg{,g« f‘%{;gﬁ
b. datneas € T r? & AR TN E of A So  wTIe
C.

14. Consider the following reaction:
HCl{agq) + CaCO;3(s) —» CalCly(aq) + H,0 (1) + CO, (g)

a. Explain what two types of reactions must take place to create those products. Explain your choice of
reaction types.
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b. A4.0gsample of CaCO; was placed in a beaker containing HCl. After 40 sec, the sample was removed
from the acid and weighed. its new mass was 2.0 g. Calculate the rate of the reactionin g CaCO0s/s
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